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Appendix B-2

Creating Mission of Seeds, Needs and Mine or My Own

Organization

It is a convenient and controllable means for understanding the relation between seeds, needs and
my own organization’s mission to represent them in a matrix by assignment into a 5-phase

improvement scheme expression as shown in the figure on the next page.
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DTCN/DTC method

Creating Missions of Seeds, Needs and Mine or My Own Organization

Firstly, look at Fig. 1 (Appendix B2) bellow.
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The situation where the matters concerned require only to be connected is said to be the situation of

"0-0-0 of seeds, mission, needs" and the situation where various things that need to be done must be

considered individually as seeds, mission and needs is called "111-111-111 of seeds, mission, needs."

We can now distinctively express any seeds or needs as those at the level of "maybe useful for

something" or at the level of "practically clear,” and so on.

"Creating missions of mine or my own organization” means that things at a lower level in the

framework are pulled up in a social pattern to the upper apparent level.

Fig. 1 (Appendix B2) The sheet to create the seeds, needs and mine or my organization mission

‘ Seeds, Needs creation and our mission creation chart

‘ (C) M.ESAKI 1995/8/21
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